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Use Romberg integration to find an approximation mf e” sin xdr. Comple-
1
te the table until Rpp_1 and Rpq agree to within 1074 Compare your

answer to the exact result y(z) = Eeztsinx — cosT).

Exact result is: EE!IIISiIl T —cosy) = ﬁ%emisin r—cos ) = 10.95017.

324
m =1 h = % =2
h 21 3 i
By o= ?(f(aj + flb)) = E[e sin 1 4 e¥=in 3) = 5.1218264
ha = hll.-".z =1
ha 1 1o .
Hzp = ?I{f(aj + fib)+ 2fla+ ha)) = §R1r1 + 5{2 « e sin2) = 0.2797629
Ryz = % = 10665742 |Rzz — R2,1| > 107°
hs = hz/2=1/2
h
Rsn = S (f(a)+ f(b) + 2(f(a+ ha) + f(a +2hs) + f(a+ 3ha))
= %Rg__l + 1“’—2'\2(2 + (et?sin1.5 + %" sin 2.5) = 10.520554
Ry, = % = 10.934151
LRy, — R
Ris = —p—7 - =10952045 |Rsz—R3,2|=18107"
hy = hs/2=1/4
Ry, 11 i )
Rip = =%+ 572(f((1.25) + f(L.75) + f(2.25) + f(2.75)) = 10.842043
AR, - R
Rip = ——7 = =10.949206
2 —_—
Rys = % = 10.95021
£R; - R 5
Ry —p 1 =10050181 |Rys— R4,3[=29107°

Exact solution-Ry 4| = 1.1 107



